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INSTRUCTIONS TO CANDIDATES (Please read these instructions carefully)

1. You have been given this question booklet and a separate answer sheet. The question booklet contains 50
questions.

2.  When you have chosen your.answer, mark it on the ANSWER SHEET, not in this question booklet.
. HOW TO USE THE ANSWER SHEET
3. Usean ord%nary pencn

Confirm that the answer sheet that you have been provided wuth has the following:
. YOUR INDEX NUMBER
YOUR NAME
NAME OF YOUR SCHOOL

Do not make any marks outside the boxes.
Keep the sheet as clean as possible and do not fold it.

For each of the questions:1-50, four answers are given. The answers are lettered A, B, C and D. In each
case, only ONE of the fouranswers is correct. Choose the correct answer.

8. On the answer sheet, the correct answer is to be shown by drawing a dark line inside the box in which the
letter you have chosen is written.

Example: -
For question 23, choose the alternative that best compleres the sentence.
23. She passed her exams very well; ?

A, isit

B. did she

C. didn’tshe

D. isn'tit

The correct answer is C.
On the answer sheet:
B ool oo o ol o @@ o e m @ o (Al (] (€] o)
In the set of boxes numbered 23, the box with the letter C printed in it is marked.
9. Your dark line MUST be within the box.
10. For each question, ONLY ONE box is to be marked in each set of four boxes.
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Read the passage below. It contains blank spaces numbered 1 to 15. For each blank space, select the
best alternative from the choices given.

The day was calm, bright __ 1 warm. Waigwa, James, Lorna and [ were 2 our way to
Mambo Park to play. Just a few metres from the park, James felt something thathad 3 to his shoe.

“Must be a piece of chewing gum or something,” he whispered as he bent __ 4 to remove the
object. What he removed from his shoe __5 _a dirty five-hundred-shilling note.

“Wow! What _6 _ luck! Let’s goand __ 7 ourselves with the money,” said Waigwa. “I know
a good restaurant where we can __8 _ go for a nice meal.”

“All you think of is food, Waigwa. No __ 9 you didn’t do well last term,” I said. “I think we
should __ 10 _ the money on a few good books.”

“You boys only think of yourselves,” Lorna interrupted. “I imagine that the owner of the note

must be worried and searching for it all over the place. So I suggest we look around to see 11 we
can find the owner.”

We argued for the __12 _ few minutes and finally agreed that we __13__ use the money to have
some fun. Suddenly, a middle-aged man appeared.

“Hey friends, I've just lost __14 __ money,” he said, almost out of breath. “Have you found a five-
hundred-shilling note around here?”

We all turned and looked at James who was still holding the note. Looking confused, James
slowly gave the money to the man who quickly expressed __15  and then walked away.

. A or B. but C. and D. even

2. A. along B. on C. in D. off

3. A. stuck B. held C. trapped D. joined

4. A. forward B. under C. down D. over

5 A is B. had been C. would be D. was

6. A. real B. good C. serious D. great

7. A. enjoy B. organise C. occupy D. please

8. A should B. must C. can D. will

9. A. surprise B. care C. guilt D. wonder
10, A. put B. spend C. use D. save

11. A, how B. if C. that D. when

12. A. next B. past C. coming D. immediate
13. A. can B. must C. would D. will

14. A. much B. the C. that D. some

15. A. joy B. gratitude C. luck D. confidence
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For guestions 16 and 17, choose the ward
which besi completes the sentence given.
16. The of living i this country has
improved a lol.
A position
B. measure
C. standard
. scale

17. The damage caused by the fire is
to be about fifty thousand
shillings, but the exact amounl 15 nol
known.
A, caleulated
B. shown
C. eounted.
D). estimated

For guestions 18 and 19, select the semence
wihich is correct,

18, A. Who is the bravest of the fwo?

Jack's work is the least of all.

We are few today than we were
yesterday.

My drawing is more better than yours.
19, Mary and [ are great friends.
None of these books are new.
Which one of them have arrived?
Each of them have read the book.

gunwEs> O NB

For guestions 20 fo 12, choose the afternative

which best completes the semtence glven,

0, you repair this for me please?
A. Should
B. Must
C. Might
D, Could

21. They rested the shade of the

mango tree.

AL al

B. on

C.in

0. under

22. He warks in Mairobi, 7
A doesn’t he
B. sn'tn
C. doeshe
D. ist

Llse Hre information below fo answer guesiions
FLY ]

Four boyvs, Job, Abel, Peter and Martin
live in the same village, Peter is younger than
Martin but older than Abel. Job is the same age
as Martin, Abel is not as tall as Job although he
15 taller than Martin and Peter. Martin and lob
are fasl runners, although they are slower than
Peter, Abel cannol run as Tast as Job.

23, Which two boys are the oldest?
AL Abel and Martin
B. Martin and Job
C. Peter and Abel
[y, Job and Peter

24. Which boy is the tallest?
A, Martin
B. Abel
C. Joh
D. Peter

25, Which of the following statements is
TRUE?
A, Job s the fastest runner.
B. Peter iz a slow manner.
C. Abel runs fasier than Martin.
1. Martin runs faster than Ahel
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Read the passage below and then answer questions 26 ro 38.

When Peter entered the headmaster’s office, he did not know what to expect. The look on the
headmaster’s face told him all was not well.

Headmaster;
Peter:
Headmaster:
Peter:
Headmaster:

Peter:
Headmaster:
Peter:
Headmaster:
Peter:
Headmaster:
Peter:
Headmaster:
Peter:
Headmaster:
Peter:
Headmaster:
Peter:
Headmaster:
Peter:
Headmaster:
Peter:
Headmaster:

Peter:
Headmaster:

Peter:
Headmaster:
Peter:
Headmaster:
Peter:
Headmaster:
Peter:
Headmaster:

908501 HI

Ah, Peter. So you are letting your marks drop again after only six months.

No, Sir.

Are you calling the teacher a liar?

No, Sir.

Are you tired of working hard? Letting me down? None of the others have let me
down. Do you want to do only the general subjects?

No, Sir.

You’d better tell me all about it.

It’s arithmetic, Sir.

What about it?

I can’t do it, Sir.

Have you tried?

Yes, Sir.

Hard?

Yes, Sir,

This record says you show no interest in it.

I've tried, Sir.

Do you mean the record is untrue?

No, Sir. I mean I’ve tried hard to be interested.

And failed.

Yes, Sir.

You know, of course, that I don’t make laws about examinations.

Yes, Sir.

Well, unless you get a certain average in arithmetic, your very high average in all the
other subjects won’t help you. That is the law, and I didn’t make it. [ want to push you
through as fast as I can, b ut you must work at arithmetic. Relax a little with the other
subjects, if you like.

[ like the other subjects, Sir.

['know. But to get where you want to go, you can’t do what you like. Where do you
want to go? What do you want to do?

Those stories, Sir.

In the book the young woman gave you?

Yes, Sir.

[ was beginning to wonder whether you had begun to forget them.

I'm trying to read them now, Sir.

Are you getting anything out of it?

Alittle.

Well, there you have it. Between you and the higher knowledge that would help you
to get everything out of that book is arithmetic. It’s like a lion blocking your road. You
either turn back because you are defeated, or you kill it and go on. There is no other
way. Arithmetic may not be very important to a poet, but you must improve and get
that average .... I promised to punish you if you were ever sent to me. We must keep
our promises. Remove your trousers, then go back and let the pain from the stick help
you to kill the lion.

(Adapted from Tell Freedom, by Peter Abrahams)
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26.

27.

28.

29,

30.

31.

32.

Why has Peter been sent to the
headmaster?

A. He has been letting the headmaster
down.

He was caught calling the teacher a
liar.

He has not worked hard enough in
arithmetic.

He wants to do the general subjects
only.

B.
C.
D.

How has the headmaster known that Peter
has a problem?

A. By doing his own investigation.

B. By interviewing Peter in his office.
C. By checking what Peter is reading,

D. By looking at the teacher’s report.

The expression ‘letting me down’ means
A. to discourage someone.

B. to disobey someone.

C. to disappoint someone.

D. to disturb someone.

What does Peter want to become when he
grows up?

A. A librarian.

B. A soldier.

C. Apoet.

D. Ateacher.

Why has Peter done badly in arithmetic?
A. He is naturally lazy.

B. He has no interest in it.

C. He does not like the teacher.

D. He is a very weak student.

It is important for Peter to do well in
arithmetic because

A. he has to please the headmaster.

B. failing in it will make him hopeless.
C. his potential can be seen elsewhere.
D. itis necessary for his future job.

The headmaster tells Peter he can relax in
the other subjects if he likes. What does he
mean?

A. That Peter can give more time to
studying arithmetic.

That Peter can ignore other subjects
and study arithmetic.

That Peter can balance his time among all
the subjects.

That Peter can study other subjects
during his free time.

B.
C.
D.
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33.

34.

35.

36.

37.

38.

Which of the following statements is
TRUE?

A. Peter doesn’t know what he is doing in
class.

The headmaster is concerned about his
students’ future,

Peter cannot do well in arithmetic at
all.

The headmaster enjoys punishing
disobedient students.

B.
58
D.

Why does the headmaster punish Peter

after talking to him?

A. To push him to work hard.

B. To cause him some embarrassment.
C. To help him think about his future.
D. To make him realise his mistake.

The headmaster can be described as
A. strict and friendly

B. kind and reasonable

C. polite and responsible

D. firm and authoritative.

What did the headmaster mean when he
said “We must keep out promises™?

A. Peter had to do what the teacher said.
B. The headmaster had to punish Peter.
C. Peter had to pass in arithmetic.

D. The headmaster had to protect the law.

The headmaster finally tells Peter that he
has to ‘kill the lion.” This means that Peter
must

A. put a lot of effort in arithmetic and
pass.

read and understand the stories in the
book.

ensure that he checks against bad
influence.

avoid going back to the headmaster’s
office.

B.
C.
D.

Which of the following would be the best
title for this passage?

Peter’s agreement to study hard.
Peter answers the headmaster.

Peter's trouble with the headmaster.
Peter gets his own punishment.

oow>



Read the following passage and then answer questions 39 to 50.

Shops which sell clothes, specifically women’s clothes, are hardly ever empty. These shops
normally have displays of many-coloured clothes on the window. Music may be heard from inside: this
is expected to attract customers to £0 in and buy.

Girls and women can be seen walking along the streets in twos or threes, mostly in the evenings
and weekends. They are looking at the clothes in the windows without meaning to buy anything; in other
words, they are window-shopping. One of them sees something she likes, and feels she must gointo ask
the price. If the shop assistant is clever, he may sell something.

“Can I help you?” he asks.

“Yes, please,” says the woman. “I"d like to see that dress that you have in the window, the light
blue one with short sleeves and a narrow belt. How much is it?”

The shop assistant goes and points to the dress, “Is this the one you mean?” he asks. “It’s only
999.50 shillings. I think I have it in your size — size 12, isn’t it? Would you like to try it on?”

Of course the woman doesn’t want to buy since she is only window-shopping. But there can be
no problem in just trying the dress on, can there? After all, no one is forced to buy after trying. So she
agrees to try it on. She goes into the little dressing room and changes into the dress.

When she comes out, she sees the admiring looks on her friends’ faces. The assistant smiles and
says, “That fits you perfectly. Let me just do up this button that is undone. You’ll notice that the dress is
this scason’s length, a little below the knee. The colour is just right for you too. That blue is preferred by
many people at this time of the year when the skies are clear.

After some more discussion, and walking up and down, the woman decides she really must have
this new fashionable dress, and she buys it.

When he has wrapped up the dress, the shop assistant tries again. “What about this nylon scarf
to go with your dress?” he asks. “It matches beautifully. And perhaps I can get you a woollen sweater to
g0 with the dress.”

He has no luck. The customer feels she has spent enough money. She takes nine-hundred-ninety-
nine shillings and fifty cents from her purse and pays. She then leaves the shop with her friends, carrying
the new dress in a plastic bag.

Did you notice that the shop assistant spoke about ‘this season’s length’? It is strange how fashion
changes, most clearly seen in the length of women’s dresses. Some years ago, most women wore very
sho:t skirts called mini-skirts; only young girls do so these days. Today, if a woman wears a dress that
touches the ankle, people think she is going to a party or is from a strict religious background. In fact,
whatever length of dress is chosen by a few fashion designers in Paris or Rome or New York is soon
accepted by most people as fashionable .

There are fashions in men’s clothes also but they change more slowly. We no longer see the high,
hard collars and bell-bottom trousers of past years. The fame of the Kaunda suit has also subsided.

Blue jeans are one of the most interesting modern fashions. Earlier, jeans were just the long-
lasting pants which American workmen wore in their workshops. One factory owner then guessed that
other people might like to wear such strong and lasting clothes when they were not at work. He was
right. Jeans are now very famous among young men and women while off duty all over the world.
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40,

41.

41.

The writer says that shops that sell clothes
are “hardly ever empty,” This means thit
A, they remain idle most of the time,

B, they are fres to sell most of the time.
C. they have customers most of the time.

D, they have enough space most of the
time,

Why do you think the clothes displayed on

the shop windows are *many-coloured"™?

A Inorder to inform people about them,

B, 5o as to attract the inferest of customers.

C. Inorder to look like the seasons of the
year.

[}, S0 as o make the shops look beauniful.

‘walking ... in twas of threes” meins

walking

A in funny groups.

B. in two or three groups
C. in different groups.
[, in zmall groups.

Why would a dress shop indicate o price

like 999.50 instead of 1,0007

A. Because shops work out their exact
prices.

B. Because customers will reguire some
(¢ :

C. Because the price looks cheaper that

W]

way.
. Because those buying might ask

quesiions.

Which of the following wards could be used
in place of *forced”?

A imtimidated

B. mformed

. requesied

v persuaded

What mainly made the woman buy the

dress?

A. She saw the admiring looks on her
friends” faces.

B. She thought the price wis guite
reasonable.

. She really needed the dress this time
rowind.

0. She was impressed by the shop

assistant™s kindness,

Why would the blue colour be preferred at

that specific time of the vear?

A. Because many clothes of that colour had
been sold.

B. Because it matched the colour of the
gky.

C, Because the colour was very allractive
at that fime.

D. Because that was the fashion of many

people.
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46,

47,

49,

' the shop assistnl ries again”, What does

he iy to do?

A. Sell clothes to other women in the shop.

B. Find more dresses like the one he has
sold.

C. Make his voice heard above the loud
music.

. Persuade his customers to buy more

things.

Why did the woman not buy the scarf or the

sweater?

A, She didn't have eny more money with
her.

B, She had bought enough ftems Tor the
day,

C. She had spent quite some money
already.

[}, She didn't really like these panticular

items.

Why da you think people like to wear

fashionable clothes?

A, Because they want to look smarl and
maderm.

B. Because they want their frnends 1o envy
hem.

C. Because they want to look different
from others,

. Becayse they want to own something

My,

Which of the following statements ts NOT

true?

A, Women's fashions change much more
frequently than men’s.

B. All fashions come from Paris, Bome end
MNew York.

C. Shops display what is trending 1o make
quick sale.

D, Fashion is a matter of what people see
as famous.

Which of the following LEAST explains

why jeans are @ Bveurite fashion?

A, They are made of wugh, durable
material,

B. They are suitable for wearmg when nol
on duty.

L. They are worn by American workmen in
wiorkshops.

[, They are well liked by young men and

WIOHTIET,



